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Hindi Knowledge & Writing Abitity / 8 R ¢d aww army

Ql TE-uBR 4 IR T e e

) ¥ W A 87

(A) Irargs s

(B) unfdyaraw w@Ww

(C) wWaEaS e

(D) Sends fsm

Q2 ‘s & o faar @ s
graty & g Bl Rew e 99

#ford |

(A) gedia
(8) ¥

ey

(s

(D) Pl

Q3 & Gy fe i @

s fovea 87

(A) wuE™
(B) &9
(C) sRwm™

(D) FwE=

SERIES-AC

o

W T aa R Pl @fsa
(A) gfeem

(B) =nfe

(C) vt

(D) gwafem

e o W @ e R @ U

s B7

(A) Fomras
(B) ywumgs
(C) WHRRImus

(D) PesmaTas

an g g gad ¢ g ara

§ o @ ol 87

(A) T aue waal wls
(B) ade sl
(C) w9yl

(D) wea—Fydo o Al

SET-PA

Q7 Pl 4 3 3w sehoafls o5
1 ey 7
(A) Hieed 3 o) o e & g
Faanirmft oY R a1 ua
(B) %z & Ras i wina @93 & o
s ot Ryan war o=
(C) e A yewwtarn qgaar & e
iy & swaw @ faen v os
(D) warmard & ) a5 @ stgwm &
fory wreb s
Qs &) wwm § o w9 B sen e
6)
(A) *ure
(B) ur
(€) s
(D) &
Q9 T ot o] & ugan wg wem
H 2 B! aren Ao gy & A
we wsE 8
(A) qaga
(B) gf wma
(C) aghs w
(D) swadnpg wara
SERIES-AC

Q10 wewren, g v ofda 4 Figa gara

on

Q1

& foe af M= @ a9 A

(A) o, and), W
(B) o= Wy qwm
(C) @, ¢ o

(D) owasy, 3ng. gar

Prafafan 4 @ 89 W v oo &7

(A)
(B) #wwd
(C) &

(D) W=

W R @ et a e

gC & aur weed &

(A) d&m

(B) uga
(€©) & owm

(D) oA

SET-PA



Q25 wHmEl ) FFe T T 8 FRSA
wer, o o @ W e @

em, wEend &

(A) REsmue ywm
(B) WeRaE® 38
(€) RwmfRdms swm

(D) & AR arn

Q26 A werar @ waw frdeh @ ae

s Wt P R &7 H

(A) TPaREATGE
(8) Frevzansy
(€) Promras

(D) ga!umm

Q27 “afeeh, B, wefar fewd waiuard)

s #7

(A) g
(8) Wl
(©
(D) wFEwE

Q28 we-yw uAm-wer F wh s g
w1 " dfm

(A) -8
(B) wa-a
(C) wa-&a

(D) -8

Q29 Praa—rmy ge—gm o vl ek
o e ol

(A) LAY

(B) wa-ff¥En
() fPftan-g
(D) wa-fAftaa

Q30 ETaE & arfou &l s g A
aftads wen B ga e 9 R
o v B e AR e @ gl @
suge Wi a8 g &1 o6 ue o

i AR

(A) TRMaE!
(B) Y

(€C) von

(D) uftadts

ST pa

Q3

Q3

-

Q33

e I g9 T ) aay ) ot A

g &7

(A) wredige
(B) fPrramed
(C) FRzaRps
(D) Fronis

uft ) pwras a w1 oww 6/
# R o wd o) aw arsh e

& W T wqe e &

(A) Interrogative word 3
(B) Auxiliary verb @
(C) Infinitive §

(D) Finite verb @

BT WA s 8 2w ) A s
gl @i & W ael s @
auqq fifa

(A) Our duty is 1o serve our country

(B) Serving of our country is

our duty

(C) Our foremost duty is 1o serve
the country.

(D) Our foremost duty is to serving

the country

Q34 A vulgsr mind is one who would like
10 command instead of asking or
requesting.

v 7y fawedt 4 @ ouder amy 9@
w8 BH arpare & wwn Afn

(A) @ siftre aiffo wo e 8
Sren qar 8

(B) & sftre ;i ag g & o
EH U urk v @ St sndn
&= A g waE R

(€) s = afdo gpd= ae) o) aden
AW T GG SO 8§ )

(D

O ) fdn anbn & anden
ardy A3 @ e &)

PSGI orovan saf) wad geuaw dafa &)
@ gow Awrsiian we @@ B2
ol wda e g & weena
FE 8w § ol ol W @ wesg
B & wdw Rvara & oy emg a8
A mfss o wam andoeae €@ 8
) edenfRdl & v v et @
wt B 3R m at ot e oEl &
fo s =0 m o &) A sy

®anE A o &y 30 gene sl



Q33

wuifrn afe wwean & wfivgfl @
@ w4 gad B awhften aie
awaa & M e e § s aad
wfde gt @ 39 anl ) e &
g wiftg ween omn B e @ie §
e wmen & sik 59 v o fag
A 78 gt & frg ) Rl @ wag
o &) sad fapd an g it
e ) e o | and @ ufty Seus
R w@ fum # du e

wr e & o W gurar B oo
G @ wiy # gud a &)

I Ry wy wgain sl vt o
e S|

I apgervor w1 Iy dides Sy

(A) @wEl-Fa=a
(8) ®Rl-auafm
(C) wrd-wes

(D) ST

Q36

Q37

ot # awa R Wi o Ty soovas

aurarl ol ) e e Quiger sur 87

(A) o A anfiie wm
(B) S

(€) SPpa

(D) s

srgutn o Ifn deauw a0 En?

(A) e gar) geawa PR &)
U B9 U Bl i aiRd @
e Hwy 9y wE aRd aeE
uret #vi 8 )

(8) omeE @ik ada SEnita e
reava @ 3 @ A oe I @
AR T SR W W
qu @ s &) wea e el
A 9 - A el @
Rzare ur &t o & 3 ud)
sy e & W w0
&1 ) e s s wyie
it Wi urar 8

(C) wwan & e awan & §en
aava § | g A e el
W N Y S asan B
&

(D) aeane ofe Muor wpl-amwm &
Y W aureer 8 G o dlan
Fwl ol @ an axd 8 Red
ael IR yu o & iR

awam Pad &

Q38

Q39

fof-faet & armg W @ 9w wed
L.

(A) e
(B) =i

(C) i
(D) aviuan

o @ W@ S el @ e gam @
fsar e B g @ wnEY w0
N sl R omon?

(A) s 3
(B) 3, &
©) #
(D) & 3

e @ B A gy e v @ adE
ward) oga W aa 9fed @ wa §
WPy & agn W R-42 e A
wgE €9 A uR 3 wEan 8

(A) T
(8) fagdh
(€ wm
(D) i wweem



General Aptitude Test /T 4f whem

Q41 Which of the following diagrams

correctly represents Brinjal, Food,

A

(8)

©

- () O

A SERIES-AC 1

Q41 Pra i @ da @ s B s,

wel @ wh @ A aafo oo 87

®) O

SET-PA

Q42 If, in a cenain language. “girls are very

beautiful’ is coded as "9234°, 'beautiful

persons need encouragement” is coded

as “4567°. ‘encouragement is very

important” is coded as ‘35817 and

*important persons are rare” is coded as

*2680°, then what is the code for
" in that | ?

et EUE!

(A7
B) 1
<)o
(D) s

Select the option that is related to the
third number in the same way as the
second number is related to the first
number:

1:120:15:

(A) 224
(B) 225
©) 242
(D) 252

SERIFES-AC

12

(LT

Q42 ufx, fneh s S, cgirls are very

beautiful® 3 g 752 B *9234°,“beautiful
p need agement’ B fT 3

€ ‘4567, ‘encouragement is very
important” & oy m2 & 35817 ale
*important persons are rare” @ ST w5
2 26807, ot @) o W

“encouragement” ¥ T @UT 7

(A) 7
B) !
)9
)5

G¥ R o1 we o o ferd) wan
A uf) W vawn § oo ged wwn
TEe wear O vl 8

1:120::15:
(A) 224
(B) 225

(€) 292
(D) 252

SEILPA



Q44 Complete the scries:

15.3.45.6.715.9.__.12,135.15

(A) 9.5
B) 10

(€) 105
(D) 115

Q45  Inacertain code, PEOPLE is writien as

ELPOEP. How will COUNTRY be
written in that code”

(A) YRTNVOC
(B) YRTUMOC
(C) YRTUNOC
(D) YRTNUOC

Q46 Amange the following in a meaningful

Qu P sae 3 90 B

15.3.45.6,75,9. __.12.135.15

(A) 9.5
(B) 10
(C) 10.5
(D) 115

048 wa faften mew A PEOPLE @

ELPOEP fan amn &1 o¥ft o wiwi
A COUNTRY @ For & & Ry

anga?

(A) YRTNVOC
(B) YRTUMOC
(C) YRTUNOC
(D) YRTNUOC

Q46 Frss wiedl ) @ wid @ A araRer

Q47 Read the given statement and

conclusions carefully and sclect which
of the conclusions logically followfs)
from the statement,

Statement.

No country is sbsolutely self-dependent
these days.

Conclusions:

1. Countrymen in general have
become lazy,

. Mis impossible to grow and produce
all that a country needs

(A) Only conclusion | follows.

(B) Only conclusion 11 follows.

(C) Either conclusion I or conclusion
1 follows.

(D) Neither conclusion | nor conclusion
11 follows.

Q47 A i g we 3l Prees u Rur

H 3R A s Y a2 Pt

T 0wy w1 exafgel o @ argee
oo B/ &)

YA

@i W dw g Rl gft ave sl
Rl

Forad:

I W W b ared 8
e

I o e Eo Y91 sl sefla e
wver & Rredt ow 2 3 oreen
e 2

(A) dae P | sepave san 8

(8) Hae Pk || sepweo wwm 84

©) mmm-ﬂmﬁ-ﬂuw
e 8

(D) 4 Fresd |3 5 & P 1)
JqEr Her &y

Q48 From her house, Rari fiest walks 18 m Q48 Wl I Wy W wEd 1S m A e
2 Lol straight in front and then 15 m to the 15 man ol &) aud a B
. right, Then. every time turming to her kefl, AR AW YEd EY WE aver 10, 25 s
Delbd 1. @i Rren 2 v 3 Rad 4 wRa she walks 10, 25 and 25 m respectively. 25m ol & ) o 3w 4 WD R
I, Red Fort 2. World 3. Delhi = How far is she now from her house? WP
4. India 5. Universe i
(A) 25m (A) 25m
PR S (A 1.3,4.5.2 (B) 20m (8) 20m
'3" 5 (8) 1.3.4.2.5 (©) 15m © 15m
)15 : © L4325 () 10m (D) 10m
1.4.3,.2,
::”l” (D) 1,3,2,4,5
13 SET-PA SERIES-AC 14




Q49 Choose the missing term.

A2C,BAD.CSE.DI6F, . F64H

(A) E24G
(B) E32F
(C) E32G
(D) E36G

You are given a question and twe
statements. Identify which of the
statements is‘are necessary/sufficient to
answer the question

Question:

Who among A, B, C, D and £ is the
lightest?

Statements:

1. Cisheavier than B and E but lighter
than D.

11. D isnot the heaviest.

(A) Statement | alone is sufficient to

(B) Statement Il alone s sufficient to
answer the question.

(C) Either statement | alone or
statement 11 alone is sufficient to
answer the question.

(D) Both, statement | and statement Il
together, are not sufficient to
answer the question,

Q. aepsfum @ T W1

A2C, BAD,CBE, DI6F. . F64H

(A) E24G
(B) E32F
(C) E32G
(D} E36G

s T we AR @ wma Re o
212 s R B d-a/8
fay Ty v w1 gER ¥ @ A
anrvas /o & /&)

e

A B.C.DMRE A @ 9@ gl
a &7

U

I, C.B¥RE#R WD E Ak D
A wor By

0. D ol 3

(A) Bua o | @ WE @ SR 3
& fae gutw &)

(B) dad dua 11§ v o aEr 3
& fog vata 81

(C) T T e W | U1 FaE WA
1w o 2 @ N wata
g

(D) e | 3 e 11 S O
A, ur o s 2 B fay @i

38 2y

SET-PA
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Q51 Amutha’s college bus is facing north

when it reaches her college. After
starting from Amutha’s house, it turned
right twice and then left before reaching
the college. What direction was the bus
facing when it left the bus stop in front
of Amutha's house?

(A) East
(B) West
(€) South
(D) North

Kumar said, “This girl is the wife of the
grandson of my mother™, How is the girl
related to Kumar?

(A) Daughter-in-law
(B) Mother-in-law
(C) Sister

(D) Daughter

Read the given statements and
conclusions carefully and select which
of the conclusions logically follow(s)
from the statements.

Statements:

All women are flowers.
All flowers are parrots,

Conclusions:

L All women are parrots,

H. Al parrots are women.

(A) Only conclusion I follows.

(B) Oaly conclusion Il follows.

(C) Either conclusion | or conclusion
1l follows.

(D) Neither conclusion | noe conclusion
11 follows.

SERIES-AC

£

Q351 Sep & @idta o0 o e Sad oid

GEE G GAR A i & s # ow
@ @ 8 @ @8 @) er el i
fre BfAw gges A wed oo gw oy
@ o apd W e ol aw
19§ @ B9 @ e aw g
fary e A w?

(A) g

(B) uftam
(C) &t
(D) T

AN A W uS Sl W oAl @ o
N uehl ) e W e » oww
aur wan 7

(A) gy
(B) wry
(€) w4

(D) g

A Ry g weell alte Prand w Rran
o SIR & a3 b PFr-w /& Pret
Ry are el anr eyl ey @ e
e R 8y

il nRRey e )
W e o 8y

Fovamd:

1. b afean det )

1. wof) o afdend &

(A) das Pl | segres swm &)

(8) e e 11 segeem @ &)

(C) <t Frsed | ar s 11 sigeron
wva §)

(D) 7 at Frsed |tz 1 & Frand g
I s )



Q354 A question is followed by two

arguments. Decide which of the
arguments is‘are strong with respect to
the question,

Question

Should luxury hotels be banned in our

country?

Argumenis:

1. No. AfMuent forcign tourists will
have no place 1o stay.

fl.  Yes They are the places from
where international criminals

operate.

(A) Only argument | is strong.

(8) Only argument Il is strong.

(C) Either argument | or argument Il is
strong,

(D) Neither argument [ nor argument

11 is strong.

| NN

17

QS4 ) TF we MR ) ow Re e &

Poly & & wwa @ @a A @ w8
o o £/8)

o AR 2w A wead Sew afwi
oy Ry w wftg?

e

1. =8 aengn AW o) o oee
& forg wd W S g

0. ® g A um ¥ ot @ ads
Sl e I ARy &)

(A) daa o | o 8y

(B) P wa 1l worge &

(C) wr o o 1wl 1 g @)
(D) =1 o o (afie A & b

warg &1

SET-PA

Q55 If 'p’ means *+, *q” means *~. ‘r* means

“x"and ‘s’ means +, then

20r5pl0q20s10=7

(A) 100
(8) 101
(©) 105
(D) 108

Read the following information carcfully

and then answer the given question.

X +Y means X is the father of Y;
X ~Y means X is the wife of Y,

X x Y means X is the brother of Y;
X #Y means X is the daughter of Y.

If M+ N# L, then which of the

following is true?

(A) M is the brother of L.
(B) M is the father of L.
(C) M is the husband of L.
(D) M is the son of L.

SERIES-AC

TG

IR

Q35

Q56

af} p ey el 4 R, g @ amd 0 B
st sl st aed e g A
20rSp10q20s10=1

(A) 100
B 101
(©) 108
(D) 108

e s @ errgde ggaw R

Ry 1y wes @ g ¥

X+vyw o BX, Yo fom &
X-Y @ o X, ¥ vl &
Xxym ad #X varwf &
Xeys o g X, v gf 8

AMWMMeNLLB. NP d SR W

i 87

(A) M. L& o 8
(B) M, L& foem &
(€) M, L% ufy &)
(D) M, L w1 g5 By

SFT.PA



Q57

Find the odd one:

(A) Lion : Den
(B) Bird : Nest
(C) Cat: Mew
(D) Bee : Hive

Select the option that is related 1o the
fourth figure in the same way as the first
figure is related to the second figure:

—

Ojo] - (B

(A)

(B)

)

(D)

P H

Qs7

Qss

Frs i awora @1 gfig |

(A) B - wig
(B) Wi ¢ i
(©) faseh - s
(D) wepw] - own

a4 fewu o o oY o 49 fas
W o waw wen 8, o geen faw
qu foa & v 8

SeNe

(GY]

(8)

()

™

Q59 Choose the option that belongs 1o the

same category as the befow words :

Ci i

(A) Book

(B) Discase
(C) Principal
(D) Theatre

Butter is related to milk in the same way

ns paper is related to .

(A) write
(B) pen
(©) pulp

(D) eraser

CLrLROITS A

Q359 uR Awou @ ags @ o i Ry

vt B it @ T v 8

T, srfvien, FPrderes

(A) g&=
(8) 9

(C) wavrand
(D) Ry

R g A oW waw wERe 8 R

YER BT A v 8

(A) foraa
(B) &&m
(©) g
(D) v



General Knowledge / GG OIerard
Q64 The Negotiable Instruments Act is an act Q64 wamn frwn AR X

Q61 The Battle of Plassey was fought Q61 wuh @ el ot e 0 Gcfine nd dmend law relating %o waR0 e W) Rt s i
betwoen the Britishand . @ @uah i M m— g e @ ey sffan 8
(A) Siraj ud-Daulah s (A) forrn we dare A) S of anchugs. promiimory actes, | (A) fofvan fwy, s an dw
(B) Habibalish Khan (B) sdqeaE s (8) awm R, Ay fw, wa
(C) Osman Al Khan © vem 3@ W (B} Sills of lading, bills of exchange. (©) wwn au, ghh,
(D) Mir Muhammed Yusuf Khan (D) A e Zgw @ PEGMIy Sohin (0) aw wx wer s, gl

(C) promissory notes, hundis, chequos

Q62 Kanchenjunga. the third tallest mountain Q62 Wi, fwa A dre WA ag wda, (D) promissory notes, bills of lading,
hundis

in the world, lics on the border between % & o e R By
(A) wree oY e Q65 Which of the following states is the R e Tt p—
(A) India and Bhutan (8) e afe dra largest producer of food grains in India? o i e
(8) Indiaand China (C) vt i Aurd
(€) India 3nd Nepal (D) ey ahe fovas VAL Masiom Pvaesh (A) mar wim
(D) India and Tibet (B) Punjab i
3V tadh (©) ware gtm
Q63 An institution of seif-go for Q63 Wt Wit & s 2434 B s i (D) sk
rural arcas, constituted under anticle i nfer i & @ RY W
2438 of the Indien Constitution, is called @ v W @ 8 Q66 Which of these is NOT & computer Q66 P & W @ oy et
- programming language? @l &7
(A) o= e
(A) Gram Sabha (B) (A0t (A) Co+
(B) Panchaya (C) el . e (B) Objective-C
(C) Geramin Sabba (D) um & (C) Cx &
(D) Gram Seva 0o © D@
L 21 SET-PA SERIES-AC
n SET-PA



S ——— 067 B i & @ @ Rl R weEs @ Q70 Untar Pradesh is famous for : Q10 Gaw wdy _ @ g g &)
mmﬁﬂﬁﬂﬂﬁhwﬂt’

performed by a CPU of a computer?
(A) chunar black clay pottery (A) TR Tl B8 @
) mem ::: :: :L (B) hassuna pottery (B) T P @ e
gmm ey A e e (€) halaf pottery (C) e il o wehoy
= Wu:‘""’“""’ P — (D) ubaid pottery (D) 5% Pt & ade
Q68 The Indian Constitution promises s Q68 wredhu wieE s AmRSt @1 Q71 The three brothers of Nathuram Godse Q71 mEm Wrsdh # 4 e wd av & o
sl 3 @ s ) aee & 8 who were members of RSS were W GH TH (RSS) & waw 97

ion and belief (A) sfvafda afr Rvars
(A) expression (A) =amesy, Mide, Nurg

g 2t alte s
(B) status and opportunity ®
(A) Dattatraya, Govind, Gopal ] B
S (€ Prare e v (B) Murz, Mfte, RAaas
Aid ek (Dy s ahe v (B) Gopal. Govind, Vinayak (C) e, e, e
(C) Govind, Vinayak, Dattatraya (D) Remps, weersy, whae
Q69 Ray Tomlinson is credited for . 069 ¥ dfiren @ R Sa R (D) Vinsyak, Dattatray, Gopal
w87
) ing the first email ever e e Q72 Which of the following Indian Q72 % wwdliy Ao acdlans an g fara
ing the first computer
(B) building A * batswoman’s brother is a district-level wIR W fhden §7
(C) inventing the calculator ; cricketer?
(D) development of the (C) Somggiee & aulieme ‘
(D) gedie @ Amw (A) goFdia aly
(A) Harmanpreet Kaur (B) wify men
(B) Smriti Mandhana (C) fareh e
(C) Mithali Raj (D) g™ area
(D) Poonam Yadav
23 SET-PA SERIES-AC M SET-PA



Q73 Gautam Buddba preached the

QM

Dhammacakkappavatiana Sutts

(Dharmacakrapravartana Sutra) at

(A) Kapilavastu
(B) Lumbini
(C) Bodh Gaya

(D) Sarnath

Before the opening of Pakyong, the
nearest pirport 10 Sikkim's state capital

of Gangtok was

(A) Bagdogra
(B) Lilabari
(C) Umroi

(D) Dimapur

2PN

Q73

Q74

A E RS AR
(famramta ) ® I Ry

e g4 A

(A) sftare
(8) gfh

(C) & mm

(D) wTeg

gradtn & azues @ ued i
o @ wemEn e o Peees

g wgE T W oar

(A) WPrETT
(8) drami@
(C) g
(D) R

SET-PA

Q75

Q76

Q1

SERIES-AC

Arms crossed across the chest would

signify

(A) patience
(B) confidence
(C) adefensive attitude

(D) insecurity

What would be the best approach if your
mistake at work has caused a loss to your

organisation?

3715627

(A) Callin sick

(B) Blame it on a collcague

(C) Own up and resolve it before it
becomes a bigger problem

(D) Tell a lie to hide the mistake

The Statue of Unity is a tribute to

{A) Mahatma Gandhi
(B) Sardar Vallabhbhai Patel
(C) Pandit Nehru

(D) Atal Bihari Vajpayee

Q75

Q76

QN

oifl w2 RAdE o 5w e &

s ®7

(A) &d

(B) s
(C) v Y
(D) argefivenn

R W A S TS B R HrE
& FFeE Sl 8 o amen dww
gfewm v & afte?

(A) fR gz

(B) 5l wwedfi we o e

(C) e dm ok 52 af
1 A UEA ¥ Hen

(D) e foum & fay 5o Qe

wuy dfw gfad _ @ ofy
!ﬂﬂm G'

(A) wewsn wieh

(B) WER geenni 9w
(C) dfzn e

(D) yea faad arrdd




Qs

(S7)

Q80

Which of the following should NOT Q8
form u part of your introduction when

you meet someone professionally”?

(A) Your role or tithe
(B) Your likes and dislikes
(C) Your business, trade, or industry

(D) A brief description of your business

Which Washington Post columnist was QM

killed inside the Saudi consulate in [
=

K

Istanbul on 2 October 20187

(A) Danicl Pearl

(B) Khaled Al Macena
(C) Jamal Khashoggi
(D) Charles Lane

Which of the following is one of the two Q80

official languages of Uttar Pradesh?

(A) Urdu

(B) Awadhi
(C) Bundeli
(D) Bagheli

T A arrefas we @ S e
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(A) 8¢

(B) 3l
(C) =
(D) ol
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CUTOFF
GEN- 64 Q- 32 Marks

OBC-60 QQ. - 30 Marks
SC & OTHER- 50+ Q.- 25 Marks



Typing Test

On Computer

2swpm in hindi & 30 wpm in English
Font- Hindi Mangal & Kurtidev
Keyboard- Remintalgail

By Paper Paragraph

Time- 5-5 Minute



